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Belton CE Primary School
Maths Year 2
Addition and Subtraction
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Addition and Subtraction Knowledge Organiser

Key Vocabulary Addition and Subtraction Bonds to 20

@ 15+5=20 7+5=12
Tota[ e o 20-5=15 12-5=7
Make 20-15=5 12-7=5

Plus

Sum 0000000

More L+3=7
Altogether

Difference
Leave

Add 2-digit and 1-digit Add 2-digit numbers Subtract 2-digit numbers

Subtract o L L Tans
Difference between T - II 34 +28 =62 62-28 =34

Less - 3 tens and 4 ones
Minus ) S, — add
Take away 1 EE] 2 tens and 8 ones
Mentally, Orally — -
Subtract 1-digit from 2-digit

Column Addition SN e - I I equals 6 tens and 2 ones becomes

Column Subtraction 2 » u =
Estimate 33-6=27
Inverse operation -|v-| (m\

Solve problems »

Number facts
f Addition and Subtraction Bonds to 100
Place Value
isit twi 2+8=10 33i ;:zr:dﬁgnes + 6 tens and 8 ones
visit twinkl.com 020 + 80 = 100 . y el ! h e.

=9 tens and 10 ones = 10 tens =one hundred

5tensand 12 ones | 5 tens and 12 ones subtract

becomes 2 tens and 8 ones equals

6tensand 2 ones | 3tensand 4 ones
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Mental Methods More or Less/ Add and Subtract 1s and 10s
Compare Number Sentences Add and subtract 1s 10 More or Less Add and Subtract 10s
BRI | o (el e
61 h<615 2%+2=26
243227 Th digit stays thy e o
e ones digit stays e same. ens nes

e e S i .

10 less | Number | 10 more s
5+3=6+2 37-1=36 1] +40

Related facts 37-2=35 III II
- _ 2 s o ] 67
5+4=9s050 +40 =90 37-3=34 1 11 21 —
sS [533 Tens Ones
| b -
I 33 3% 35 36 37 38 34 44 54 [s283822382838S] [os 0
I There are 7 flowers Take care when

Add 3 1-digit numbers in a vase. One crossing hundreds: % 42

I T T[T T | more is added. HES

Now there are 8 mmm Crossing hundreds
9+5+3=17
flowers.

Check Calculations

19 - 8 = 11 can be checked using 8 + 11 =19

\

32+5=82x Spotthat5 tens

have been added not 5 ones

28 - 26 =12 x Spot that 28 and 26 are very
close together, so difference won't be 12.

37-4 =41 x Spot that if subtracting

4 the answer will be smaller.

68 - 40 = 64 x Spot that 4 ones have

been subtracted and not 4 tens.
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Mental Methods

More or Less/ Add and Subtract 1s and 10s

Compare Number Sentences

6+4<6+5

5+3=6+2
Related facts
5+4=9s050 +40 =90

Add 3 1-digit numbers
I T T

9+5+3=17

Add and subtract 1s 10 More or Less Add and Subtract 10s
24+1=25 [30 4o s0[eo 70 80| [10] 30 50|70 [ 90]
2202
24+3°27 The ones digit stags th Tens | Ones

e ones digit stays the same.
(s o [ o s ] | ™ i .
less | Number | 10 more s
37-1=36 "" +40
37-2=35
67
[P
NN L L »
33 34 35 36 37 38 i I
There are 7 flowers Take care when i
in a vase. One crossing hundreds: 42
is added. =
:‘:‘V: tlie‘:e :re 8 mmmm Crossing hundreds:
flowers.

Check Calculations

19 - 8 = 11 can be checked using 8 + 11 =19

.

32 +5=282x Spotthat5 tens
have been added not 5 ones

28 - 26 =12 x Spot that 28 and 26 are very
close together, so difference won't be 12.

37 -4 =41 x Spot that if subtracting
4 the answer will be smaller.

68 - 40 = 64 x Spot that 4 ones have
been subtracted and not & tens.
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Key Vocabulary

Addition and Subtraction Bonds to 20

Add Q 15+5=20 5 745-12
Total e o 20-5=15 257
Make 20-15=5 7 2-7-5
Plus /_._\
s loToZoToX o X oX o NUNNNNNNY ot SR
More LR A A A A el i i Ul il
4+3=7 7
Altogether 3 15-7=8
Difference Methods
B chtwect Add 2-digit and 1-digit Add 2-digit numbers | Subtract 2-digit numbers
ubtra o E e e
Difference between £ m/-\;./@\; #hy, [Fens Jones 34 +28 =62 62-28=34
Less I27 + Ie 3‘3 : 3 tens and 4 ones
Minus a, g @ dd a
Tokeaway |1t T %t i % o
2t d 8
Mentally, Orally ' ens and 8 ones g

Column Addition

Column Subtraction

Estimate

Subtract 1-digit from 2-digit

equuls
Lo B B Y

5tens and 12 ones

6 tens and 2 ones becomes

5 tens and 12 ones subtract

\.

Inverse operation ) 3. ez becomes 2 tens and 8 ones equals
Solve problems A s A s T 6tensand 2 ones | 3tensand 4 ones
Number facts - -
Place V‘{[ue Addition and Subtraction Bonds to 100
2+8=10 32 +68=100

020 + 80 = 100 3tensand 2 ones + 6

=9 tens and 10 ones = 10 tens =one hundred )

tens and 8 ones
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Key Vocabulary

Addition and Subtraction Bonds to 20

Add (20) 15+5=20 v 7+5-12
Total e o 20-5=15 257
Make 20-15=5 7 2-7-5
& T
;um 00000002 123 45 6789 10111213141516 1718 19 20
ore
+ = 7=
Altogether 4+3=17 15-7=8
Difference Methods
S:;::/:ct Add 2-digit and 1-digit Add 2-digit numbers | Subtract 2-digit numbers
[T - -
Difference between | 3 u By Sy [Tens 34+28=62 62-28=34
S S s S M
Less 27+6=33 II 3 tens and 4 ones
Minus i, BT e add a
Take away F R T S T o 2
——— tens and 8 ones s

Mentally, Orally

Column Addition

Column Subtraction

Subtract 1-digit from 2-digit

Tens

Ones

nnnn
7 s w0 nm om2 o»

equals

5 tens and 12 ones

6 tens and 2 ones becomes

5 tens and 12 ones subtract

.

S S S M S|
Estimate 6= i
Inverse operation EINPET e becomes 2 tens and 8 ones equals
— T i
Solve problems I s S A T 6tensand 2 ones | 3tensand 4 ones
Number facts - -
Place V(J:[ue Addition and Subtraction Bonds to 100
2+8=10 32+68 =100
5020 + 80 = 100 s

=9 tens and 10 ones = 10 tens =one hundred )





image5.tiff
Key Vocabulary

Addition and Subtraction Bonds to 20

Add Q 15+5=20 v Te5-12
Total e ° 20-5=15 257
Make 20-15=5 7 5 2-7-5
Plus /.\
s loZoZoXoXo ok o i
More P S A el i i i il
4+3=7 7.
Altogether 3 15-7=8
Difference Methods
S:::::ct Add 2-digit and 1-digit Add 2-digit numbers Subtract 2-digit numbers
s . ot
Difference between |z = 2 :o/-\;l u/m\s's 34+28 =62 62-28 =34
Y S Y Y S|
Less 27+6=33 II 3 tens and 4 ones
Minus G, add a
Take away 27w o 0 w2 on = g
Y Y Y Y S S |
2
Mentally, Orally = tens and 8 ones s

Column Addition

Column Subtraction

Estimate

Subtract 1-digit from 2-digit

equals
KNI, [
g
o)
II i

5tens and 12 ones

33-6=27

6 tens and 2 ones becomes

5 tens and 12 ones subtract

\.

Inverse operation EINPE] becomes 2 tens and 8 ones equals
Solve problems E A A S s A 6tensand 2 ones | 3tensand 4 ones
Number facts - -
Place Value Addition and Subtraction Bonds to 100
2+8=10 32+ 68 =100

q;gﬂzp"mmmnmm

5020 + 80 =100

3tens and 2 ones + 6 tens and 8 ones
=9 tens and 10 ones = 10 tens =one hundred )
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Add 0 0 G D 0 0
Mental Methods More or Less/ Add and Subtract 1s and 10s
Compare Number Sentences Add and subtract 1s 10 More or Less Add and Subtract 10s
_ 24+1-25 [50 w050 eo 7050 ]| [0 [ 30 [0 [ 70 | %0 |
6+4<6+5 2r2=26
24+3°27 The digit stays th Tens Ones
e ones digit stays the same.
o e e e s | | EVEDENE EDEE T I v
ess | Number | 10 more /]
5+3=6+2 37-1=36 II" +40
Related facts 37-2=35 3 . I“"I .
5+4=95050 +40 = 90 37-3-34 1 21 L
& SRR |REREE ens Ones
NN & R »
I 3w 35 36 3 3 W 0 o
l There are 7 flowers Take care when i
Add 31-digit numbers in a vase. One crossing hundreds: i 42
EEEEEEEEE T T LI | more s added. 56 Too s [ 2
9+5+3=17 Now there are 8
flowers.

Check Calculations

19 - 8 = 11 can be checked using 8 + 11 =19

|

32+5=82x Spotthat 5 tens

have been added not 5 ones

28 - 26 = 12 x Spot that 28 and 26 are very
close together, so difference won't be 12.

37-4 =41 x Spot that if subtracting
4 the answer will be smaller.

68-40 = 64 x Spot that 4 ones have
been subtracted and not 4 tens.





